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  Ch.— Multiplication (Word Problem) 

 

Write the statements and find the product:- 

(One is done for you) 

1.Ramesh gave 4sweets to each of his 

12classmates on his birthday. How many 

sweets in all did he distribute? 

Solution:- Number of classmates=12 

Number of sweets given to each =4 

Total numberof sweets distribute =12×4=48 

Therefore,Ramesh distributed 48 sweets 
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        T    O 

1 2 

        ×    4 

        4    8 

2.There are 20mangoes on each tree in an 

orchard. The orchard has 4mangoes trees in 

all. How many mangoes are there in the 

orchard. 

3.A truck has 6wheels. How many wheels 

will be needed for 9 trucks? 

4.A month has 30days. How  many days be 

there in 3such months? 

5.Rekha purchased 3dozen bananas. How 

many bananas did she purchased? 

(1dozen=12) 
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6.A tricycle has 3wheels. How many wheels 

will be needed for 33 tricycles? 

7.If each of the 9bunches of keys contains 

10keys. How many keys are there in the 

bunches in all? 

           

   


